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Model Test Paper, March 2021

CLASS -4
SUBJECT: ENGLISH

15Ye| 1 Vo Yo | FERUUTURU TR O U TP RO RRPRRRRUROPPPN
Student’s NaMe ..o.eeeeeeeeeeeennn. Class woveeeeeeeeeeeeeeeece et eeeeenenns
RO NO et eee e eee e DAt e,

Marks -70 + good handwriting: 10

Total marks: 80 Time : 3 hrs

(A). Read the passage and answer the following questions: (5x2=10)

One day, Rahim and his father went for a morning walk at 6 o’clock. Rahim
was questioning his father about the things around and enjoying. On the
way, he saw beautiful mountains, lush green lands, grazing cows and white
ducks swimming in a small pond.

Rahim: Father, | am tired now.
Father: We can take rest.
They both sat down under a shady walnut tree.
Q1. Who went for a morning walk?
(a) Rahim (c) both Rahim and his father
(b) Rahim’s father (d) none of these
Q2. What did Rahim see on the way?

(a) mountains

(b) green lash lands

(c) cows and ducks

(d) all of these
Q3. Where did they sit down to rest?

(@) under an apple tree

(b) under a walnut tree



(c) under a watermelon tree
(d) none of these
Q4. Choose the gender of ’father’
(a) son (b) mother (c) brother  (d) uncle
Q5. We can take rest.
“We” in the sentence stands for
(a) Rahim
(b) Rahim’s father
(c) both Rahim and his father
(d) none of these

(B). Read and answer the following questions (3x2=6)

OBEY TRAFFIC RULES AND SIGNS
to prevent road accidents

Q6. How many traffic lights can be seen in the picture?

(a) two (b) three (c) four (d) one
Q7. What should we obey?

(@) rules  (b) signs (c) traffic rules and signs  (d) none of these
Q.8 We can prevent ................ by obeying traffic rules?

(a) events (b) accidents (c) happenings  (d) none of these



Do as directed (12x2=24)

Q.9 Traffic lights are seen roads.

(a) on (b) at (c)in
Q.10 The opposite of ‘joy’ is
(a) sorrow (b) happy (c) merry

Q.11 Which sense organs can you find in the grid?

t O | n S e
n |e | u| k |p
e |y | a i r
d | ' g n | c
(a) eyes (b) tongue (c) skin

Q.12 Choose the odd one.
(a) ship (b) scooter (c) sheep
Q.13 Which of these words has silent” R”?
(a) harm (b) cover (c) brave
Q.14 Choose the correct spelling.
(a) farmer (b) framer (c) famer
Q.15 Choose the correct statement.
(a) doll a beautiful bought they.
(b) They beautiful a doll bought.
(c) They bought a beautiful doll.
(d) A beautiful bought they doll.

Q.16 Which of these is not a noun?

(d) of

(d) funny

(d) ears

(d) car

(d) three

(d) fermer

(a) Ravi (b) Rahim (c) see (d) Anu



Q.17 Choose the correct punctuation mark for the following sentence.

What are you doing

(a) . (b) ! (c), (d)?
Q.18 Fill in the blank with suitable article.
Amanisreading_ book.
(a) an (b) a (c) the (d) his
Q.19 Choose the correct sentence.
(a) you best are dad the.
(b) You dad are the best.
(c) Dad the best you are.
(d) You are the best dad.
Q.20 Which of these is not an adjective?
(a) wise (b) dull (c) keep  (d) happy
(21) Answer the following questions. (any four) (4x2%=10)
i How many sons did the king have? (The King and his Sons)

i On which day did Surjit go to daana mandi? (The Farmer and the
Bullock Cart)



v. What does the player pass on, in relay race? (Teamwork)

Q 22. Write names of colours (5x1=5)

1. 2. 3.

4, 5.

Q 23. Write two sentences for the given picture (2x2%4=5)

Q 24. Complete the following sentences with words from the help box.

(5x2=10)

healthy grass domestic tail milk

1. The cowis a...ce.eeeeeeeeeunennnn... @animal.
2. 1thasa .ieeeeeeann

3. 1L IVES US eveeieieieciieeenn




4.1teats .coovveeverieienennn. .
5.1ts milkisvery .ccooeveeneeneees :

Q 25. Good handwriting (10)
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